Quiz 25

1) What would you lead from these card combinations:

a)
b)
c)
d)
e)
f)
9)
h)
i)
)

KJ63
AK1032
10975
QJ6
AJ52
Q872
83

against a no-trump contract

Q7 (partner’s suit)

KJ1064
KQ1064

2) The auction has gone INT — Pass — 3NT — All Pass
What would you lead from these hands?

a QJ972 A 7654 A 1074
v A6 v8 v AK653
¢ 9854 + 10932 ¢ 98
% 103 & 9763 & J52
3) You are West and hear this auction:
West North East South
Pass Pass Pass le
Pass lv Pass 1a
Pass 3a Pass 4a
Pass Pass Pass

What would you lead from these hands?

a Q85

v 1073
¢+ KJ62
% Q104

SBU 2020

A 742 a9

v 10853 v K43
¢ Q6 * K762
& AK93 % QJ985

Lesson 25 (quiz)

against a suit contract

A AK6

v 84

¢ J1092
& 7543

a KQ105
v Q863
*4

% Q972




